Section 7.3 Reflection -  Homeostasis and the Plasma Membrane  -  Molecule Movement Practice

If 0.89% NaCl is isotonic to human cells, give me a hypothetical # for a solution that is:

hypotonic to 0.89%____________________

hypertonic to 0.89% ___________________

Draw three beakers.  Draw one large blood cell in a solution.  Use red pencil for the NaCl molecules, and use blue pencil for the Water molecules.  Since these membranes are only permeable to water (not salt), use blue arrows to show which way the water will move in each situation.  Describe what will happen to each cell and explain why.  Be sure to explain what will happen to animal & plant cells. (there are some differences). 
Start this way for example:

1. ISOTONIC SOLUTION



       DESCRIPTION

(notice there are 5 molecules of salt in and out of cell and 5 molecules 
of water in and out of the cell)

	Animal cell       
	Plant cell

	
	


Do the same for the next 2 solution types:

2. HYPOTONIC SOLUTION



DESCRIPTION

3. HYPERTONIC SOLUTION


DESCRIPTION

